

7938 MAIN STREET HOUMA, LOUISIANA 70360

(985) 876-3456

DARRIN GUIDRY CAMPAIGN FUND 113 KRUMBHAAR DR. HOUMA, LA. 70360

Invoice

DATE	INVOICE#
11/2/2023	PO11-202301

	TERMS	DUE DATE	REP
DESCRIPTION		AMOUNT	
POLITICAL AIR TIME - PREPAID INVOICE - BAYOU TIME POLITICAL AIR TIME - PREPAID INVOICE - BAYOU TIME	138 64	21.25 20.00	2,932.50 1,280.00
SPORTS POLITICAL AIR TIME - PREPAID INVOICE - BAYOU TIME SPECIAL	64	10.63	680.3
POLITICAL AIR TIME - PREPAID INVOICE - LATE MORNING POLITICAL AIR TIME - PREPAID INVOICE - PRIME TIME	1 5	7.00 20.00	7.00 100.00
DARRIN GUIDRY FOR TERREBONNE PARISH PRESIDENT FLIGHT DATES 11/2/23 - 11/18/23 GENERAL ELECTION - NOVEMBER 18, 2023 PAID WITH CHECK 1006			
DL/KJUN D	Total		\$0.00

Total

\$0.00

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
1. Darrin Wayne Guidry	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE
STAT	E OR LOCAL CANDIDATE
Part No.	
	S MUST BE COMPLETED
Candidate name: Darrin Guidry	
Authorized committee:	
Agency requesting time (and contact information):	
N/A	
Candidate's political party:	
Republican	
Office sought (no acronyms or abbreviations): Pansh fresident - Terrehonn	1e /
Date of election: 11-18-23	General Primary
Treasurer of candidate's authorized committee:	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, ind	
and other sales practices (not applicable to federal candida	tes).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCIN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature: Will Will My	Signature: Janu Patu
Name: Damin Buidny	Name: Joni Pitre
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time:

to an opposing candidate or, if it does, (i for a duration of at least four seconds an the candidate approved the broadcast a	ne broadcast matter to be aired pursuant to 2) contains a clearly identifiable photograp and a simultaneously displayed printed state and that the candidate and/or the candidat tains a personal audio statement by the can adidate has approved the broadcast.	h or similar image of the candidate ement identifying the candidate, that ce's authorized committee paid for the
Candidate/Authorized Committee/	Agency	
Signature:		
Name:		
Date:		
тс	D BE COMPLETED BY STATION O	NLY
Ad submitted to Station? Ye Note: Must have separate PB-19 For	No Date ad received:	
Federal candidate certification signed (al	bove): Yes No	N/A
Rejected – provide reason:	y not yet received to determine sponsor ID comptly upload updated final form when co	
Contract #:	Station Call Letters:	Date Received/Requested:
Est. #:	Station Location: HOUMS. W	Run Start and End Dates: 1/- 2 -2 3-1/-18-2
use this space to document schedule of t purchased or attach separately. If station	affic system print-out) or other documents time purchased, when spots actually aired, will not upload the actual times spots aired tinformation immediately should be placed	reflecting this transaction to the OPIF or the rates charged and the classes of time d until an invoice is generated, the name



Darrin Guidry

November 2-18

Quote Total:

5,000.00

4,999.82

Total Spots:

61

(0.18)

November 2-5	November 2-5			Mon	Tu	u Wed	Thur	Friday	Sat	Sun			
												Cost/Spot	
Program	Days	Time	x to run			1000	11/2	11/3	11/4	11/5	Total Spots	(Net)	Net
Bayou Time	M-Sun	12A-10PM	х6			201	6	6	6	6	24	21.25	510.00
Airs 6x per day				KEN		TE SE	1	1	1	1	4		

				Mon	Tu	Wed	Thur	Friday	Sat	Sun	Total Spots	Cost/Spot (Net)	Net
			x to run				11/2	11/3	11/4	11/5			
Bayou Time Sports	M-Sun	7A-11PM	x4		100	5000	4	4	4	4	16	20.00	320.00
Airs 4x per day				T- 8			1	. 1	1	1	4		

				Mon	Tu	Wed	Thur	Friday	Sat	Sun			
Bayou Time Special	M-Sun	3A-7PM	x to run				11/2	11/3	11/4	11/5	Total Spots	Cost/Spot (Net)	Net
(Promotional)			х4		L Yar		4	4	4	4	16	10.63	170.08
				1 270			1	. 1	. 1	1	4		

November 6-12				Mon	Tu	Wed	Thur	Friday	Sat	Sun			
												Cost/Spot	
Program	Days	Time	x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12	Total Spots	(Net)	Net
Bayou Time	M-Sun	12A-10PM	х6	12	12	12	12	12	12	12	84	21.25	1,785.00
Airs 6x per day				2	2	2	2	2	2	2	14		

				Mon	Tu	Wed	Thur	Friday	Sat	Sun	Total Spots	Cost/Spot (Net)	Net
			x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12			
Bayou Time Sports	M-Sun	7A-11PM	x4	4	4	4	4	4	4	4	28	20.00	560.00
Airs 4x per day				1	1	1	. 1	1	1	1	7		

· · · · · · · · · · · · · · · · · · ·			Mon	Tu	Wed	Thur	Friday	Sat	Sun			
Rayou Time Special M. Sur	24 7014		11/5	44.77	44.60	44.6					Cost/Spot	
Bayou Time Special M-Sur	3A-7PM	x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12	Total Spots	(Net)	Net
(Promotional)		x4	4	4	4	4	4	4	4	28	10.63	297.64
			1	. 1	1	1	. 1	. 1	1	7		

BTA Prime Time

		Mor	Т	u	Wed	Thur	Friday	Sat	Sun			
M-Sun	6PM-10PM	11	/6	11/7	11/8	11/9	11/10	11/11	11/12	Total Spots	Cost/Spot (Net)	Net
			1	1	1	1	1	Dr.		5	20.00	100.00



Darrin Guidry November 2-18

November 13-18			Mon	Tu	Wed	Thur	Friday	Sat	Sun				
Brogram	Davis	T:		44/42		44/45	22/22			100		Cost/Spot	
Program	Days	Time	x to run	11/13	11/14	11/15	11/16	11/17	11/18		Total Spots	(Net)	Net
Bayou Time	M-Sun	12A-10PM	х6	6	6	6	6	6			30	21.25	637.50
Airs 6x per day				1	1	1	1	1	15-201	1 2	5		

				Mon	Tu	Wed	Thur	Friday	Sat	Sun	Total Spots	Cost/Spot (Net)	Net
			x to run	11/13	11/14	11/15	11/16	11/17	11/18				
Bayou Time Sports	M-Sun	7A-11PM	x4	4	4	4	4	4			20	20.00	400.00
Airs 4x per day				1	1	1	1	1			5		

				Mon	Tu	Wed	Thur	Friday	Sat	Sun			
												Cost/Spot	
Bayou Time Special	M-Sun	3A-7PM	x to run	11/13	11/14	11/15	11/16	11/17	11/18	1	Total Spots	(Net)	Net
(Promotional)			x4	4	4	4	4	4			20	10.63	212.60
				1	1	1	1	1			5		

			Mon	Tu	Wed	Thur	Friday	Sat	Sun			
BTA LM	M-Sun	7AM-12PM	11/1	3 11/14	11/15	11/16	11/17	11/18		Total Spots	Cost/Spot (Net)	Net
		s.	100				1			1	7.00	7.00